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(2) T 8L

Al -bmbn= 0 53 RN
1x2 |-2nxy Fmy%}1-2mx}-2ly }n= 0

EME S > AL T B Ex Tl S0A BBy Ey iR RO RO AR

2)

3)

)

(b)

€(6)

'AD/BCRIHBEZ M AL REE
1x®-|- Zle xy {-my2-{-2mx-2ly +-n=0,
HElx? [a24-y" [b2=1 L Z P> Q RZME L) (eccentr'c angles )

BXEO, ¢, ¢ 37P QRB= UBIR S AT ZBM B ( AR
B R :

ab tan

9*2*42,,,, 9?;4! m\L}Q .

P ¢ B —H ] (co-axial circles) —5E M 2 %S (polas)
AR — s > B— P HEZ {8 (poles ) bfE—EEE L 0
#x [<LmBERER T (1—x) T W LURBME

co {e1x freaxe-|-eeve

Z#A s KC ZE > B

co f-ey fregfrere - Cp=—p 55 o
Do ABZEASSEY > HAL o ABLZBES2Z=ABLH
e .
B 254 SECD SR DB B4 e B3RS B2 AW o HABk B M UAE
THCZ M AR L MNBCEBRAL L MAD= Q4 R¥LH o
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1)
2)

3)

o

5)

€8)

()

€2)

{8)

(2) HTHEE

HBBIAER-TFFT KL HBLHEELSRZEAKES o
R (ay—bx) 24k (x—a) (y—b) =03l (ar b)) ZHHE
FE o Wree WIE = BT AR DRl AR
dxy —k=0,
A SR Z A5 ol Ty = mx-t-ol4 55 i 8y =4ax > Bt » AR
c= —Tam—am".

BRILREBIE— @ B > —HriE 5 = ik 5 BASSdit=m
ARE R R E R SRR o SR B S RS
iR Z A o
RIBFZHRS

| x2—a2  x2—b2 x7—c? | =0,

| (x—a)3 (x—b)% (x—e)¥

(x18)3s (x]b)3> (Xfe)s
FRa% b2 et —be—eca—ab WLLSHMER MW —KRT > WFRHA
(x"—yz ) &|-(y?—2x)*} (22—xy ) ¥ —3 (x8—yz) (y&—2x)
(z2—2y) B8 o
& hRZ BB E o e BT » J143 BeAT % ( substends )
ARG 5 BEkR > AN R BIT AL KRB ZISER Jiio
EURVATIWE N
HBE (x)) ZREESEE ) H () BE() ABHEK
YRATE(x) =0 MEHM o
FRIBIAL 5 Rk
rx+y-l‘z=7 .
< x-"l‘y“—l*z-‘-';g
xyz=12

BRRBZ AP 2/ EEISE » e
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L34 2 Z #

a8 co8 A-J-b cos B-|-c cos C=4 R sin A 8in B gin C.

(4) BURFEB TR x2-2y —dx— 2y —6=0 K y2-f-xy—8=02 554

2.

s.

4'

‘Be

6.

7.

B S xripkl 52 Bt o 5 R o

EiRYAS TN

R~ 82 B A Rm o
Ml 1-x . Tpx _g,
N x212 —x A 2712 4x
b2 BT o
R F IR E 2 kR ( Interval of Convergence )

H“Tfiﬁ 1 ”2’12?1“ R _3.57?%+.. e
oEx=E1 BRE MHRI T
f# Sin xt-cos x|tan x=Sec xr
Rox ZiEfH o
R Z B S i 125 K > 5 5B YRR 100502 18 > G
REMZWA R0 > ZTa 2 M fA E80O Kk R LR i FElk o
R ABSERABELL(0, 1) & (0, —1) BHIEHHMNE» RE—

BVEEC.HCHEAB Y PR 7 He 75— ik ( apk R ICHN s ) Al O3

—RIPs HACE L 2 @14 > FBCHMZ. MAZ AR~ HAO0 (BIO
A RCHHT 3 ) AICE—HQ.

1R P 2 G AR Bk SO R R R P2 4210 5

2¢RQZBBRAHA MY © WHEQZ H O 2 fhh 5

8 WHIPHQIER o

B SLBE RB

(1) f# 8x?—2x—by 5xf 3z -3 -9=0.
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X & A 0™ .on

2)
(3)
(O

1

(2)

(38)

4)

(@D
2)

(3)

L (1)

ik P ZiEgLR 0

Rl fy2=1T2 G5} > FF7 R EMx+1y=5.

REEFBE (2,—8) ) thigTx? -8y —28x 80y 179 =0
HiRk e

CRvAL PPN
axtl o

2
_ 2=
f#% Bx_i’C .

f# 2x —2x%—8x }2=0,
5 ABCDE~1470U:#W » ACKE A *» th BAFEERS %X
AC) CDRADKF,GLE, KRG
FF. FG= BF%.
A
sin“A —sin‘B
" sinAcosA— sinBcosB

BB RS
(1) B &l

R Ry —by4-1-9y "~ Iy2i-By _1=07 Fiffk o
B R

=tan(A]-B)e

1
( (ay )'°gx==(-*~>l°g7 ’
U (ax )10 = by o8P o
A,B:C it “%%7@@9§A£QECMﬁ7ﬁﬁm¥’
SRPAL L Wil o
ERE—HR—EHR> :k@%ilﬁ]f?"?]ﬁ ? fiﬁﬁm%‘i‘ﬁs’{f*ﬁﬁmz
BB I SENDEE o
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(3) FRBANRBMARS MBS —#CINZ A £ ABCE10020°
» BICHIR S £ ACB £} 62950, H-B{8A CRIMZIEEEES 10,64
B PIAER ARLA 2R P
- gin 62030’ =0,8897
. cos 10020’ =0,8363.°

(2) C~W#A

(1) RFBRKxP—1=07FfRo
(2)®: | o a b |
“ —n o d [ == (af—be- '\ 26
; . = (af—be i*cd)
l ~b -d o f -
| —¢ —e —f o]
(3) FABREMZER » CEABRZ NS » R ECE—i%CD X EME
ABHAE, WED% o5z o

() PEESISHEER—ZAT > ARES > IR AN

Bl 9 PR T BRI HI TR o
(8) BMRF Gk AR Lo
VAT, .
IR 20,80 88 3 ZHIFES. Be 02008 )
(1) BH—=MPABC; [RZALPHAREETS > Hfb—mAC &
AC*p B0 "= 2RB 2ttt FIREY ) MUK BESRTIN?
2 ) 7 co8 P = 4 cos® (432)——3c08(%)~) .
S (8) PEBENERTIIEES:
184234 884 sefon” = g'ﬂ('n‘j‘l ) )‘2. -
€4) RA—SADY) RERH oo 55 foar INBRRIE—FES
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Xk = A 0™ 9

1.

2.

Be
6.
e

1,

2.

3.

4.

o Ko B UL E o

B AL KB
##& 1 (a)SinA (111anA) 1-cosA ( 1}-cotA ) =secA [-cieAs
(b)) tanA |-tanB }-tanC =tanA tanB tanC.
A’l‘B {"C: 18000
( 6x2 F1l9gy—Ty2= 0,
B (a) <

L Sx¥—xy {*4y2—.5:— (1%

x 2x x
N N s il

BWE2BR 0 LR 2 7ral RERE S0 » HEMREIHAS
arc tan 0. 125, kg% & & o
B mybac £3 25— 3x22x |- 1 =00 Z > 3E — RS KRS

2 Y o1 5 1

afb " ble” cln’
A (—20—2) T B 2x8 —4xy |2y —x= 0 LI 2 Fikk o
REAIEA(4515)5B(7,5),C(1,3) 2 A EL o
-~ EhE B — i Hlx 21y =16 )% — 2 Bz =640 57 » RUILTNEE D2
T o
B AL R 1L T BB

B 2x3+4x2-18x b= 0 2 R asbyey B BB L F2 HsR
S 11 1,1 1,1
D) oa (B‘f‘-c—)’b(‘é" a Yre( a 3 Y ) E%lﬁzjif%xfﬂ
FBCB IR THIEE

1}§+\2—f§+~1—«1~- CFENE L 0

Ry = gl s o
P i v° =10x 2 I > OB » Pl antammne&
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o

b,

| 48

2o
8.

4.

o PQUE L s HO N HRPQ > T BFP M R ISR 2 KRR Z
Wz FR AR

P-ABCH—IF =A% » HIEHABCT ZAFMZEASI0R » M
APB,BPC,CPA = i fiy iy 21300 R IL = Mt 2 & o

Bl 2L s B BB b
§ 5 2 3{x 5 —Dxt— bxS 2622 {+4x—2) = 0,50 41 4 41 Fay— asby—boes
K o
H5051524354,0,6,7 \{AE T 2 (1G0T H548 /12100002 B H#6 7
WS AB 2 EBER RS A2 4 M ~&5 0o
SR AT — B S TANABCHEE L 52 B 1 P QR Al

- y —=1|

©PF *aQ “BR
Ca ) ZEA 1B HC=1800,
F&SinA |- SinB—SinC=4Sin gsmgeos ¢

2 0
(b ) fRcotx |2 ( Sinx —cosx ) =3-

B 57 B K
(1) H #8
B1,208,2,3,4,8, JLUFEXIRNPHEREASF
B FHIH M
Coex Sin:;
Tanx Cotx ' =0
BRPxé+Qxt-8=0 HFERZ Wl o

AR 6 x® —~24 gy—y2 —160== o ;¥ UM o
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8.

4.

2,
8,

4.

L

(2) <M

S B e —H > B AR H LA T T

BRI T FIH R

log (x11) -}-Tog (x®—x |1 ) =zlog (x-I1) +-Tog (x |2+
il 75 8 W TR SR BRI ©

oy Tan © —Sec 26 =1.

AR 131

ACFFIAR 2R A .
82— 2ab—15b2, a3-}-27b% a2 |-6gb |~Ibe.
23 VA = AN
x]-y= B
< 2x—z=2
L 3x-{-2y—3z= ¢
BB 5 (R AR A B & B EHAC,BD 15 CELD 8 H 73 §0 45 B 55—
2B 5 — P ) R EN Y R BRSPS PRIADBC . 7885 Q
HHEEEHACHIT (PQ{AC).
K8 tanx [-cotx = 2¢5¢2x.

B 7 A3 R B (Bt
FHitxt —x? —22x2 |-B1x— 9= 0 LR KMFL 0
ESARAN—WE = RE s maRlo

RTINS BB A b R AR AT R SR Y B R

Y RSB ABE 1 TS B A TR o
EEATB FC=T0 k%

Ten |~TanB + TanC—TanATanBTanC= 0 »
BB C3,2), (— 1,4 ) fEEME R 0
Rx1®—y AR 0
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IR NG
1. P 5x8 —4x5—11x44-40x34-11x2—dx—17 — B A 2NV T, B
[l = . '
?- &E'FEJ&&%%&W%@EH »
2 33 44 P S
22{36144’ L ELAN W t
3s  Ry®=2axWx2=dby 7 A LGRS BN o
4o EHALBE Cu ik » fEZ ATA'BC.
Bs k3 sin3 0 |'sinB0 = 86inO cos2O cos20 .

A K8
IS > AL B R SLIUE £ 0 SKOREE )% AR LLRILER o
1. |a (b ab SHHAT
2, ftcos' 51O R cosbL00 Y ff.
8. FFLTR ) (UG ATHE T
(i) tn A=—2,  (ii) sin B=
o RTEEN LM (-2 B —y [1=02 M T

Be REGH(0~1D K (LOIMBZEHRBEA
6. EOSAARCA—I4

(i) (OA1-0B1-0C) B} ('AB [-BC-HCA ) ~BHWA T

(ii) (OA}OB{-OC) # (AB}FBC|-CA ) T8 kP
7. B4T=fIBABCRKA'B'C HAB =A’B',\BC=B'C’. %L A=~LA";f
BB DM ‘
8. (2,2) WM y5—2x=0 A ) fIEEI T
9. FIEAERR
(i) 9=2,  (ii)©=60%

*s e O
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1.

12
13
14,

15,

16,

1Te

1s.

18,
.'200

21,

22.
- 28,

RFFIEREK ¢
(i) txFytz) (x—y—2) (—xi¥—z) (—x—~y+2).
(ii )(a®—eb+b2 ) (afb)2.

®
" { xtytziu=3s
J ytztutv=3
» zfufvix=17
1 utvixpy=2
. vixtytz=4

S/ ERTZ—NABICKILER o
PIRE= A2 0 P TR0 REBL Y F P =R —Es
FHIERD > RIEHEERTF > B0

;8 )
—Ss‘iim‘-‘— = (i )Sin2A, (if)Sin2A,

(ii1)3}-4Sin2A, (iv) 4 cos®A —1.
4 .
= 3 — 1 =
A tanx /3, cos x—4 §in x
(i) logg 4 = Cif) logy 2=

Ciii ) logg 1 = (iv) loge .17-7-
#* c".“= c“‘ L H 3n=2m— 4 :kmBEnXfH,
kx®-{- 4y2—8x—0—xE§Tﬁ@;fwk¥i (i) k=05 (ik=1s (i)

=1

REH 47— 8y—-1=083x—dy {-2~0 IRBZ TR TR 0
#itan™ ipf tan tq= L/ 2, 3Epq=1.

R=ABABCH 7 45 sin2A |sin?B= Sln‘Cs sk ,qﬁﬂ%[ BEA
ZAT o

EFRA4HMB—31242,

k TR » FATFIAZ MR T
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8 k 4!
2 3 7|
1 8 b

24, FABCDSEINEEIGRT » HAB=6,BC=38,CD=3,DA == 8,AC =",
sRBD+
26. 290 B ALY e 34, BEAS kMR 2 B o
264 sREEghLRIx® Oy S =36 EE 2 HRRk o
27, BUE FITEF B2 0 LR O o
28, AMEE = ATZABCH 9 #{%%acosB [-bcosA==c.
29. % :
SinA [-cosA=x/ 2,
300 FA= TS ABCY MBI 934 ABAT - #5CA = 6,CB== 8 KAT- -

81, gtilDesargues’ 5T » WIEBLIEZ o ‘ 4?
2. RFVISEBnEZ
. 1 1 1 1
(Y) W‘l‘m‘f‘m‘*‘m—‘f‘a.n)
I ’ 1 1 £
(1) (14x) (422D + (IF2x) (1438x)
- 1 — o AT}
F Ty e T
PRI N.
(1) B £

. 1. Find the following values:

(A) lm ¥ THx =¥ T°x ,
x—->0 < o

(B) 1 1 e 1
ixz T axs T +n(n+l)’

o " ‘
; S
S et b e RS SE e e . o ik
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2.

8.

B.

(c) |16 8 2
16 12 8
~
20 82 12 .
Solve
(%2 —2y2—g=0,

(2x2 —5y2 j-2y =0,
Two persons A and B are to draw alternately one ball at a time
from a bag contaning 3 white and 2 black balls, the balls drawn
not being replaced.
If A beging, what chances has each of being the first to draw
a white ball What are the respective chances of A and B, if the
balls are replaced as they are drawn ?
At a distance a feet from the foot of a tower, the angle of elevation
A of the top of the tower i the complement of the angle of ela,

. vation of a flagstaff on top of it. Show that the length of the staff

is 2 a cot2A feat.
Solve for x between O° and 3600
Sin x -}Cos x=Sac x.
A line is drawn from a fixed point O meeting a fixed line in Q.
Find the locus of a point P on the line such that OP X OQ ig a constant.

(2) ¢ #A

Two Points A and B lie on the same side of a Straight line L on
this line, &

' m. determine the position of a point P such that the sum PA-'PB

2.

is a minimum.

b., determine the position of & point Q such that the difference
QA~ QB ig a maximum.

Prove that AC-BD'=AB*CD {-BC<AD where A B: C» D are four
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8,

1.

-2,

4.,

SuccesBive points on a stsaight line.
Solve lhe system of equations

(x®-|-y2 = ];xy >

(x—y=Zxy.
In how many wayé can 18 books be divided etually into ° sets of
of 6 books each‘?
The length of the perimeter of a triangle is 100 feet and the mgles-
are in the ratio 7:.:2. Find the lengths of the sides.
Prove that.

' 3u9-f-gi
80 ‘sﬂl n
(a) tan 180 = <08 389 {-cag 50~

§

(b) tan-? l-i-tl*l\"--~-'|"mn'‘~*l‘ﬂm-1—;—=—,1\,~ .
Show that the tangemts ot the ends of a focal chord of a parabol»
interseet oﬂhogonally on the directrix,

s INUN.
BB B RE B L L —5Ti 8 o
RSB % 8 —8 5 o
s FAIZ BRI )
(a) x*—28x2 1, {b) y#z2(xt—1)-}x2(yt—z).
Hxy, xzﬁlzii:ct?x*—& i-8=02""42> A*u

~A oy X2 %ﬁ 2R o
.-“axt#’r F:%ﬁ%é}raﬁﬁ :

2x3—x2-1
(x—2)+4
R FHlL s
608 A |- co8 B 1- ¢o8 C - cos ( A+BHC)

- . ™ . ¥
. R
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~ _ B+C C+A AtB

S, BREEMARERLZE I RE—=ABo
6. B THIWEGRILEE
$=2(1—co8Q ).
T. %‘a‘%ﬁ#‘dﬁﬁiﬁiiﬁi&ﬁ&ﬁ~ﬁ]ﬁﬁmﬁzfﬁ!ﬁézmﬁgﬁ%—-ﬁﬁr
[o]
8. HabrosBHERNxS pxii-gxte==021R » kI

1 1 1 -
— b;,b—-;:c—égﬁﬁzﬁﬁﬁ °

g AL B o
1. 3% 8tan-1— 1 — = tap~! l-}‘tan-‘—} yEARR 2 0
2v3 x 3

—r e EHEHSHESENEILE S TR E S b & A

RPEAR R R E S R R R o M ET Y
3. JR'T;F%:’—Z Ao
4. KB x2+y2— 6x -4y =12 Zm H AR~ mER

4x |-8y-}-5=021F o

e N

L BRATTEEZ — RBERERNE 2 ME =57 S 2 B AR

o ]

a

4 .sin Af2, cos A/2, tan A[2,
2. =3 4 4
oin A= 5 Kein 24, cos 2A, tan 2A.

3 B34 SO TR THI 90ENG B TOIT H) STOOTL B SR A H
120F) R 4Bl W E B o
4. (R FFZBIL R
x2 —4y2-}x |-3y=2x—y=1.
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P51 P14 PCELOB 2 SEH} & IRCFHCB=CP o
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BALBIA 24 5600 > RADEL % o



